7.00" SHEAR
TYPE BOLT

IMPORTANT !
BOLT KIT INCLUDES TWO

TIGHTEN BOLT UNTIL
SHEAR HEAD SEPARATES

HARDENED WASHERS PER

SHOCK WHICH MUST BE POSITIONED AS SHOWN.

THESE WASHERS ARE NON—STANDARD WASHERS WITH
TIGHTER TOLERANCED HOLES, DO NOT SUBSTITUTE
STANDARD WASHERS FOR THESE PARTS.

INSTALLED SHOCK BOLT KIT

O.E.M.

. SEE L1073 FOR INFORMATION ON ASSEMBLY, WELDING PROCEDURE, AND ALIGNMENT.
. SEE SERVICE MANUAL FOR INFORMATION CONCERNING MAINTENANCE PROCEDURE.

NOTES:

1

2

3. MANUFACTURED UNDER ONE OR MORE OF THE FOLLOWING PATENTS:
OTHER PATENTS PENDING U.S. PATENT NOS. — 5,366,237 — 4,166,640

4

. REQUIRED CROSSMEMBER LOCATIONS ARE SHOWN. ACTUAL SIZE AND SHAPE MAY

VARY WITH TRAILER DESIGN. IT IS THE RESPONSIBILITY OF THE SUSPENSION INSTALLER

TO ENSURE STRUCTURAL ADEQUACY OF TRAILER FRAME AND CROSSMEMBERS.

5. SEE L1182 FOR HEIGHT CONTROL KIT OPTIONS.

@
4] SEE PAGE 8 AND 9 FOR C—CHANNEL AND FRAME BRACKET BRACE REQUIREMENTS.
DO NOT ROUTE ITEMS THROUGH THIS AREA FOR 9.0 INCH AND LOWER RIDE HEIGHTS

DUE TO MINIMAL BEAM TO FRAME CLEARANCE.

q TWO UPPER AIR SPRING PLATES ARE PROVIDED FOR 6.5", 7.5", 8.0" AND 9.0"

RIDE HEIGHTS. SEE VIEW XX FOR INSTALLATION.
SEE D—29431 FOR DIMENSIONS AND CROSSMEMBER LOCATIONS.
10. FOR BOLT—ON MOUNTING PATTERNS, SEE DRAWING D—26651.

CLEARANCE SPECIFICATIONS:
a) 1.0 INCH MINIMUM CLEARANCE REQUIRED BETWEEN TOP OF TIRE AND
BOTTOM OF TRAILER STRUCTURE WHEN AXLE IS AT FULL JOUNCE.

b) 2.0 INCHES MINIMUM CLEARANCE REQUIRED BETWEEN INSIDE OF
TIRE AND TRAILER STRUCTURE FOR LATERAL MOVEMENT.

c) .75 INCH MINIMUM CLEARANCE MUST BE MAINTAINED AROUND
AR SPRING WHEN IT IS AT MAXIMUM DIAMETER.

AIR SPRING
MOUNTING PLATE

AIR SPRING A
FLEX PLATE "|
|

C—CHANNEL AND SPACING REQUIREMENTS WHEN USING UNDER BEAM LIFT ASSEMBLY

SEE PAGE 8
@

T ~
II \\ I’ \

[ \ ( \
N4

N/

/
~. L

N MPORTANT! <¥]

/' IF C—CHANNEL IS REQUIRED
INSTALL FRAME BRACKET SUPPORT
" BRACKET FIRST. REST THE C—CHANNEL

S ON TOP OF FRAME BRACKET SUPPORT

BRACKET SURFACE AND WELD AS SHOWN.

IF RETROFITTING UBL KIT, C—CHANNEL
MAY NEED RELOCATED PER ABOVE.

FRAME BRACKET
__QUPPORT BRACKET

50.00 MIN. SPACING BETWEEN AXLES WHEN
ADDITIONAL AAL SUSPENSION IS FORWARD OF LIFT SUSPENSION
[=——— 43.00 MIN. SPACING BETWEEN AXLES WHEN ——

ADDITIONAL AAT SUSPENSION IS FORWARD OF LIFT SUSPENSION

AR SPRING

"C"(IN-IN TIRES MIN.)

"B" +7.25

"B"+.06 §¢—¢ (FRAME BRACKET CENTERS)—

' "B'-7.25
INSTALLATION OF AIR SPRING PLATES FOR (3.75)4—] (HP SPINDLE, SHOWN WITH AXLE CAP)
, 7.5", 8.0" AND 9.0" RIDE HEIGHTS
__________ (7.14) —
\ (10.75)
THE FRAME BRACKET WING MUST BE SUPPORTED AND WITH WING WINGLESS
WELDED AS SHOWN IN L64. CENTER LINE |
Q] —1(10.50 TO 11.oo)|—— OF AR SPRING ] n
(4.75) FOR WINGLESS WELD—ON - 34.25+.06
(IAN%ERS. I (HN SPINDLE, SHOWN WITH AXLE CAP) —14.06
4.25) FOR ALL OTHER HANGERS i (23K & 25K—STD)
] i s o<g e | =
- - =1 — 1 B(23K & 25K-EXT
] | SERVICE)
o SEE NOTE 5 (30K)
(E) ¢
3l _L ' ] RIDE HEIGHT (H S |
bj JOUNCE 2 AXLE/BEAM WELDMENT SHOWN ROTATED
BUMPER CONTACT SO THAT TOP OF BEAMS ARE PARALLEL
+ A ' TO FRAME FOR CLARITY.
+.38 AXLE
ALIGNMENT i REBOUND
o\ | -
© RIDE HEIGHT ® i
+ \ l 5.50)
) / (275) |
BRAKE CHAMBER PORTS MUST | '
BE ORIENTED INWARD AS SHOWN |
S e N e N N s S
. . . F) 1
This Print remains the property of (
Hendrickson. All information contained (45.68 MAX. OVERALL) GROUND CLEARANCE _ #13.40 MAX. AIR SPRING §23K & 25K)
S | InTol . T0 CALCULATE GROUND CLEARANCE 13.40 $14.50 MAX. AIR SPRING (30K)
thereon is confidential. It is loaned, SEE PAGES 2, 3, 5 AND 6 FOR THE TABULATED DIMENSIONS SHOWN ABOVE |SUBTRACT "J° FROM LOADED TIRE RADIUS (23K & 25K)
subject to return on demand and on Y - (1.38) —| I— —"A"  -14.50 —
express condition that it is not to be RIDE HEIGHT "J" (30K)
copied or used directly or indirectly 6.5 9.75 .
for any purpose other than the pur— - - 'A"+.06 ¢—~¢ (AR SPRINGS)
pose for which it has been loaned to 7.5 9.83
you. 8.0 9.88
TOR E SPECIEICATION 9.0 10.04 MODEL 23K & 25K 30K
ORQUE SPECIFICATIONS 12.0 9.95 TRACK WIDTH (IN) 715 | 730 | 755 | 765 | 775 | 835 | 80 | 715 | 730 | 755 | 765 | 775 | 835 | 8.0
14.0 9.95
DESCRIPTION SIZE TRAYF 150 0.32 DIMENSION "A" (IN) | 31.00 [ 32.50 | 35.00 [ 36.00 | 37.00 | 43.00 | 44.50 | 30.00 | 31.50 | 34.00 | 35.00 | 36.00 | 42.00 | 43.50
SHOCK BOLTS 3/4-10 | 210-235 16'0 9'93 DIMENSION "B" (IN) | 35.00 [ 36.50 | 39.00 [ 40.00 | 41.00 | 47.00 | 4B.50 | 35.00 | 36.50 | 39.00 | 40.00 | 41.00 | 47.00 | 48.50
AR SPRING NUTS, UPPER 3/4—16 | 80100 17'0 . DIMENSION "C” (IN) | 46.50 | 48.00 | 50.50 | 51.50 | 52.50 | 58.50 | 60.00 | 46.50 | 48.00 | 50.50 | 51.50 | 52.50 | 58.50 | 60.00
AIR SPRING NUT, LOWER 1/2-13 | 25-35 19'0 10.32
S—CAM BEARING BOLTS 3/8-16 | 35-45 @ | RotacTon
— — UNLESS OTHERWSE NOTED: 36| 045136 | 0.0 10/78/24 | oot &Y oL = iy
BRAKE CHAMBER MNTG. NUTS | 5/8—11 | 100-110 O HENDRICKSON ok 1= aol e & anogrson | 7-6-90 INTRAAX® AAL, AAEDL ,;,{ﬁfi"”””l o [Tors
ABS BRACKET BOLTS 1/4-20 | 75-100 IN-LB ol — |22 el 77 |, nse MUGHERTY | e
BRAKE DUST SHIELD BOLTS | 5/16-18 | 160180 IN-LB TRALER COMMERGIAL VEHICLE SYSTEMS | oiesons A 1o o mimerorv e o[ ov [ ome | NMIERS | ‘e INSTALLATION DRAWING D-25153




STANDARD & HIGH CONTROL TRAVEL DIMENSIONS FROM PAGE 1 FOR AAL 23K AND 25K
RIDE REBOUND|REBOUND| gyper | <8 < | < '.
HEIGHT| JOUNCE |W/FRONT|W/REAR |conTAcT| P | B | F ¢ W/FE'ONT W JREAR
SHOCKS | SHOCKS
SHOCKS | SHOCKS
6.5 2.3 4.5 3.9 1.9 19.4
> 33 35 5 g 59 .38 4.5 193 4.2 11.0 10.4
8.0 3.8 3.2 4.7 3.4 .38 4.5 | 19.2 4.2 13.2 12.7
9.0 4.8 4.2 3.7 4.4 .38 4.5 | 19.0 4.2 13.2 12.7
12.0 2.3 4.8 3.4 4.9 A9 8.0 | 19.1 6.7 16.8 15.4
14.0 2.9 4.4 4.2 9.5 1.13 | 10.0 | 19.1 8.1 18.4 18.2
15.0 o.6 3.4 3.2 S.2 3.50 | 10.0 | 18.8 9.4 18.4 18.2
16.0 3.7 4.3 4.3 3.3 3.50 | 12.0 | 19.1 10.3 20.3 20.3
17.0 6.0 3.3 3.3 5.6 4.81 | 12.0 | 18.8 11.0 20.3 20.3
19.0 oS.7 3.5 — 2.3 7.51 | 14.0 | 18.8 135.3 22.5 -
NOTES:
1. SEE L729 FOR SUSPENSION WEIGHT.
2. SEE L1073 FOR ALLOWABLE RIDE HEIGHT RANGES.
JOUNCE AND REBOUND DIMENSIONS CHANGE AS THE RIDE HEIGHT
CHANGES FROM THE NOMINAL POSITION.
< DIMENSIONS "G” & "H” WILL REMAIN CONSTANT REGARDLESS OF
RIDE HEIGHT VARIATION FROM NOMINAL POSITION.
WHEN THE OPTION FOR FRONT AND REAR SHOCKS IS SELECTED,
< DIMENSIONS FROM "REBOUND WITH REAR SHOCKS™ AND
"H WITH REAR SHOCKS"” SHOULD BE USED
< TWO UPPER AIR SPRING PLATES ARE PROVIDED FOR 6.57, 7.57, 8.07,
AND 9.0” RIDE HEIGHTS. SEE VIEW XX ON PAGE 1 FOR INSTALLATION.
< AIR DISC ONLY AVAILABLE WITH REAR SHOCKS
This Print remains the property of
Hendrickson. All information contained
thereon is confidential. It is loaned,
subject to return on demand and on @
express condition that it is not to be P
copied or used directly or indirectly m" _ _ PRODU$‘110N
pose. for which it has boen loaned to EVIENDRIGKSON B Sl e E e NTRAAX® AAL, AAEDL [ C o 7o
you T oo oo semis pal 2 omr Lol ot ] B | INSTALLATION DRAWING D-25153




STANDARD & HIGH CONTROL TRAVEL DIMENSIONS FROM PAGE 1 FOR AAEDL

HEIGHT| YOUNCE 1w /FRONT| W/REAR | coNTACT| D "L S |y rroNT]w/REAR
SHOCKS | SHOCKS

SHOCKS | SHOCKS
9.0 | 4.6 4.0 3.7 40 | 19 | 45 ] 19.0] 4.4 | 13.0 12.7
12.0 | 5.3 4.6 3.4 48 | 19 | 80| 191 6.7 | 16.6 15.4
14.0 | 5.9 43 4.2 54 113 |10.0] 19.1| 81 | 18.3 18.2
15.0 | 5.6 33 3.2 50 |350|10.0] 188 9.4 | 18.3 18.2
6.0 | 5.7 77 13 52 350 |12.0] 191|103 | 202 | 20.3
17.0 | 6.0 3.2 33 54 | 481 |12.0] 188 11.0 | 202 | 20.3

19.0 | 5.7 3.4 — 51 | 7.31 |14.0 | 18.8 |13.3 | 20.4 —
NOTES:

1. SEE L729 FOR SUSPENSION WEIGHT.
2. SEE L1073 FOR ALLOWABLE RIDE HEIGHT RANGES.

JOUNCE AND REBOUND DIMENSIONS CHANGE AS THE RIDE HEIGHT CHANGES
FROM THE NOMINAL POSITION.

DIMENSIONS "G” & "H” WILL REMAIN CONSTANT REGARDLESS OF RIDE HEIGHT
VARIATION FROM NOMINAL POSITION.

WHEN THE OPTION FOR FRONT AND REAR SHOCKS IS SELECTED,
DIMENSIONS FROM "REBOUND WITH REAR SHOCKS” AND
"H WITH REAR SHOCKS” SHOULD BE USED

AIR DISC ONLY AVAILABLE WITH REAR SHOCKS

ENYANWANAN

This Print remains the property of
Hendrickson. All information contained
thereon is confidential. It is loaned,
subject to return on demand and on

express condition that it is not to be
copied or used directly or indirectly PRODUCTION
for any purpose other than the pur— 045135 | 00| 10/16/24

3 DRAWN BY. BOALE 3 PAE
pose for which it has been loaned to GAHENDRICGKSON e o eE ] s owiec ol o-zeav o G ANDERSON | 2-29-00 INTRAAX ®AAL, AAEDL %ﬂ:wﬂ ™ o [Tors
I3

26252 | 26| /2707 | SON pavcreRTy | Mmeme D—-25153

o e common venge smus (e £ e [rl e omlm i i | e INSTALLATION DRAWING




INSTALLER TO ADD DOUBLER PLATES

¢ AR SPRING ON

10.50 FOR AAL 23K & 25K
10.00 FOR AAL 30K & AAEDL

SHOCK_CENTER

—(2.27)

INSTALLER TO SUPPLY SPACER
BETWEEN TOP OF AIR SPRING
MOUNTING PLATE AND UNDERSIDE
OF CROSSMEMBER.

1.

SET SUSPENSION TO RIDE HEIGHT.

ASSEMBLY PROCEDURE FOR REAR MOUNTED SHOCK

2. LOCATE UPPER SHOCK BRACKET ACCORDING

® 3.

4.

TO SHOWN DIMENSIONS AND WELD INTO PLACE.
CROSSMEMBER MUST BE 6 X 3 X 1/4” MINIMUM TO

WITHSTAND TORSION.

ENDS OF TUBES TO DISSIPATE STRESS.
l‘_ INSTALLER MAY ADD GUSSETS OR
AN ADDITIONAL CROSS MEMBER TO
UPPER BRACKET FOR ADDITIONAL
STRUCTURAL SUPPORT.

35.75

IT IS THE RESPONSIBILITY OF THE SUSPENSION
INSTALLER TO ENSURE STRUCTURALLY ADEQUATE
ATTACHMENT OF BRACKETS TO FRAME.

IF THE REAR SHOCK OPTION IS USED

WITH THE REBOUND LIMITER, THE UPPER SHOCK
BRACKET ATTACHMENT MUST BE ABLE TO
WITHSTAND A FORCE OF 2000 LB PER SHOCK
ABSORBER. IF THE REAR SHOCK OPTION IS
USED WITHOUT THE REBOUND LIMITER, THE
UPPER SHOCK BRACKET ATTACHMENT MUST

BE ABLE TO WITHSTAND A FORCE OF 5700 LB

PER SHOCK ABSORBER.

3 X6 X1/4” TuBe
SUGGESTED MINIMUM |

l—(4.75)*

BOLT LOWER SHOCK TOWER BRACKET AND BACKING PLATE

TO BEAM USING 1/2—-13 FLANGE BOLTS AND LOCKING

FLANGE NUTS.

BOLT TOP OF SHOCK TO UPPER BRACKET USING THE

CLEVIS INDICATED FOR THE APPLICATION'S RIDE HEIGHT

(SEE "REAR MOUNTED SHOCK” CHART).

BOLT BOTTOM OF SHOCK TO LOWER SHOCK TOWER BRACKET.

TIGHTEN ALL FASTENERS TO SPECIFIED TORQUE.

* (4.75) FOR WELD—ON WINGLESS HANGERS ONLY.
FOR ALL OTHER HANGERS.
WELD—ON WINGLESS HANGER IS SHOWN.

4.25

REAR SHOCK EXPLODED VIEW

thereon is
subject to

This Print remains the property of
Hendrickson. All information contained

express condition that it is not to be
copied or used directly or indirectly

for any purpose other than the pur—
pose for which it has been loaned to

confidential. It is loaned,
return on demand and on

REAR MOUNTED SHOCK
RIDE_HEIGHT |CLEVIS P/N | DIM 'K you.
6.5
755 C—29967 50
9
12 C—25420 3.59
14
1 C-29967 .50
16
= C—25420 3.59

IT IS THE RESPONSIBILITY OF THE SUSPENSION
INSTALLER TO ENSURE STRUCTURALLY ADEQUATE
ATTACHMENT OF BRACKETS TO FRAME. REBOUND
LIMITER UPPER BRACKET ATTACHMENT MUST
WITHSTAND 7600 LB FORCE EXERTED BY EACH
CHAIN.

— (4.75)*

MARK LINE AT SHOWN
OFFSET WHILE AXLE IS
AT FULL REBOUND.

AIR SPRING NOT
SHOWN FOR CLARITY.

4.25

* 4.75;

FOR WELD—ON WINGLESS HANGERS

FOR ALL OTHER HANGERS.

WELD—ON WINGLESS HANGER IS SHOWN.

VIEW B

VIEW C

SCALE: 1.00=8.00
OPTION 1
REINFORCEMENT GUSSETS

SCALE: 1.00=8.00
OPTION 2
WEB STIFFENERS

ONLY.

CHAIN LENGTH ON REAR MOUNTED SHOCK ABSORBERS, MEASURE 3/8" OFFSET
RIDE HEIGHTIH OF LINKS FROM THE BOTTOM EDGE OF THE SHOCK ABSORBER DUST TUBE
AND MARK WITH A PAINT PEN OR FELT TIP MARKER. IF THE
8 10 SUSPENSION IS NOT EQUIPPED WITH REAR SHOCKS, OFFSET
9 10 1/4" ON THE FRONT SHOCK AND MARK. (SEE FRONT VIEW).
12 12 . ROTATING THE ADJUSTMENT BOLTS ON EACH SIDE, RAISE THE
” ” AXLE UNTIL THE BOTTOM EDGES OF THE SHOCK DUST TUBES
ARE ALIGNED WITH THE MARKS.
15 14 . TIGHTEN ALL FASTENERS, INCLUDING JAM NUT, TO SPECIFIED
16 14 TORQUE. (SEE "TORQUE SPECIFICATIONS” CHART).
17 14 ®
19 16
UNLESS OTHERWISE NOTED: 36 | 045138 | DO 10/16/24 | omami wY
CIHENDRIGKSON e B
H‘EN‘DR{IGK‘SON &(.X'E - S 3¢ | 20252 |246| 1/27/17 :&DAUMERTY s oo &
TRALER COMMERCIAL VEHIGLE SYSTENS (e 2 e T | Eracms | o

ASSEMBLY PROCEDURE FOR REBOUND LIMITER
. RAISE REAR OF TRAILER AND SUPPORT SECURELY.

TRAILER MUST BE HIGH ENOUGH FOR THE SUSPENSION
TO BE AT FULL REBOUND WITHOUT TIRES TOUCHING GROUND.

. POSITION UPPER BRACKET ASSEMBLIES ON FRAME RAILS

TO INDICATED DIMENSION AND CLAMP INTO PLACE.

. ATTACH LOWER BRACKETS TO TRAILING ARMS USING THE

FOUR 5/8" FLANGE BOLTS AND NUTS.

. VERIFY THAT THE CHAINS HAVE THE CORRECT NUMBER OF

LINKS INDICATED FOR THE APPLICATION’S RIDE HEIGHT
(SEE "CHAIN LENGTH" CHART). ATTACH CHAINS TO LOWER
AND UPPER BRACKETS USING THE 3/4” BOLTS, NUTS, AND
WASHERS AS SHOWN IN EXPLODED VIEW.

. ROTATE THE ADJUSTMENT BOLT UNTIL THE SLACK IS

TAKEN OUT OF THE CHAINS.

. WELD THE UPPER BRACKETS TO THE FRAME AS SHOWN. BRACKETS

MUST BE ADEQUATELY ATTACHED TO FRAME USING ONE
OF TWO METHODS: WEB STIFFENER PLATES OR
SUPPLEMENTARY GUSSETS. (SEE VIEW “B” AND "C").

[ e |

TORQUE SPECIFICATIONS

DESCRIPTION sze | TOARYE
SHOCK ABSORBER BOLTS 3/4-10 | 210-235
LOWER SHOCK TOWER BOLTS | 1/2-13 |100-110
LOWER CHAIN BRACKET BOLTS| 5/8-11 [ 200-220
UPPER CHAIN BRACKET BOLTS| 3/4-10 [ 240-260
CHAIN ATTACHMENT BOLTS | 3/4—10 | 240-260
JAM NUT 3/4-10 [ 240-260

REBOUND LIMITER EXPLODED VIEW

INTRAAX ® AAL, AAEDL

SOME =
.166=1.000 | 0
DRAWNG No.

|n¢
4 0F9

INSTALLATION DRAWING

D-25153




LIMITED JOUNCE & HIGH CONTROL TRAVEL DIMENSIONS FROM PAGE 1 FOR AAL 23K & 25K

>

RIDE <3] |REBOUND|REBOUND|BUMPER <4 )
HEIGHT| JOUNCE |W/FRONT| W/REAR |CONTACT | D | E | F | G H

SHOCKS | SHOCKS W/FRONT|W/REAR
SHOCKS | SHOCKS

8.0 5.2 S.2 4.7 2.8 1.50 | 4.5 [19.2 | 4.8 13.2 12.7
9.0 3.7 4.2 3.7 3.3 2251 4.5 |19.0 | 5.3 13.2 12.7
12.0 4.2 4.8 3.4 5.8 2.25| 8.0 | 19.1 ] 7.8 16.8 15.4
14.0 4.6 4.4 4.2 4.2 3.50 | 10.0 | 19.1 | 9.4 18.4 18.2
15.0 4.6 5.4 3.2 4.2 5.51110.0 118.8 | 10.4 18.4 18.2
16.0 4.7 4.3 4.3 4.3 5.31112.0 | 19.1 1.3 20.3 20.3
17.0 4.6 3.5 3.3 4.2 /7.51112.0118.8 | 12.4 20.5 20.5
19.0 4.6 3.9 — 4.2 9.25 | 14.0 [ 18.8 | 14.4 22.5 —
NOTES:

1. SEE L729 FOR SUSPENSION WEIGHT.
2. SEE L1073 FOR ALLOWABLE RIDE HEIGHT RANGES.

<JOUNCE AND REBOUND DIMENSIONS CHANGE AS THE RIDE HEIGHT CHANGES
S|FROM THE NOMINAL POSITION.

<DIMENSIONS "G” & "H” WILL REMAIN CONSTANT REGARDLESS OF RIDE HEIGHT
VARIATION FROM NOMINAL POSITION.

< WHEN THE OPTION FOR FRONT AND REAR SHOCKS IS SELECTED,

DIMENSIONS FROM "REBOUND WITH REAR SHOCKS™ AND

"H WITH REAR SHOCKS” SHOULD BE USED

< AIR DISC ONLY AVAILABLE WITH REAR SHOCKS

N

©)

(0))

This Print remains the property of
Hendrickson. All information contained

thereon is confidential. It is loaned,

subject to return on demand and on

express condition that it is not to be

copied or used directly or indirectly PRODUCTION
for any purpose other than the pur— TOERANGES AR NSO 38| 045130 | 00| 101824 fomini®) 7 Soo=r.00 | 5
pose f)t;rpwhp;ch it has been Ioclne?d to HEN‘DR‘IEK‘SGN m’“?_:rmsf‘rﬁ 2 ’,Z:;,f mw&;z:::: i:...f(: |NTRAAX®AA|—’ AAEDL - | 2 |50Fg
you. TRALER COMEROAL VEHGLE SoTpus [ iR £ e [T e nma o INSTALLATION DRAWING D-25153

DINENSIONS ADHERE TO ANS Y14.5M—1982|REV.JECN No.[ BY | DATE | NMYERS




1. SEE L729 FOR SUSPENSION WEIGHT.
2. SEE L1073 FOR ALLOWABLE RIDE HEIGHT RANGES.

JANVENANWAYAN

This Print remains the property of
Hendrickson. All information contained
thereon is confidential. It is loaned,
subject to return on demand and on
express condition that it is not to be
copied or used directly or indirectly
for any purpose other than the pur—
pose for which it has been loaned to
you.

STANDARD & HIGH CONTROL TRAVEL DIMENSIONS FROM PAGE 1 FOR AAL 30K
RIDE | <3| |REBOUND|REBOUND| giypeR < < qé,: H

HEIGHT| JOUNCE |W/FRONT| W/REAR | conTACT| P E - G |W/FRONT|W/REAR

SHOCKS | SHOCKS SHOCKS | SHOCKS
9.0 4.5 4.2 3.7 3.9 38 | 45 | 19.0 | 45 | 132 12.7
12.0 | 5.3 4.8 3.4 4.8 19 | 80 | 191 | 6.7 | 16.8 15.4
14.0 | 5.9 4.4 4.0 5.4 [1.13 | 10.0] 191 | 81 18.4 18.2
15.0 | 5.6 3.4 3.2 50 |3.50 | 10.0] 18.8 | 9.4 18.4 18.2
16.0 | 5.7 43 4.3 52 |3.50 | 12.0 | 191 |10.3 | 20.3 20.3
17.0 | 6.0 3.3 3.3 5.4 |481|12.0] 188 |11.0 | 20.3 20.3
19.0 | 5.7 3.5 _ 5.1 7.31 | 140|188 [13.3 | 225 —

NOTES:

JOUNCE AND REBOUND DIMENSIONS CHANGE AS THE RIDE HEIGHT CHANGES
FROM THE NOMINAL POSITION.

DIMENSIONS ”"G” & "H” WILL REMAIN CONSTANT REGARDLESS OF RIDE HEIGHT
VARIATION FROM NOMINAL POSITION.

WHEN THE OPTION FOR FRONT AND REAR SHOCKS IS SELECTED,
DIMENSIONS FROM "REBOUND WITH REAR SHOCKS” AND
"H WITH REAR SHOCKS” SHOULD BE USED

TWO UPPER AIR SPRING PLATES ARE PROVIDED FOR 9.0”
RIDE HEIGHT. SEE VIEW XX ON PAGE 1 FOR INSTALLATION.

AIR DISC ONLY AVAILABLE WITH REAR SHOCKS

P
PRODUCTION

10/18/24

GHHENDRIGKSON

8§-29-23

12717

DRAWN BY
C. ANDERSON

TRAILER COMMERCIAL VEHICLE SYSTEMS
2070 MOUSTRIAL PLACE SE. CANTON, OH_44707-2000 U.8A.

FIRIEIE]
e

09/03/15

[DIMENSIONS ADHERE TO ANSI Y14.5M-1882)

REV.|

DATE

OHKCD BY
e-27-00 DAUGHERTY

N.MYERS

INTRAAX® AAL, AAEDL
INSTALLATION DRAWING

PAGE
[ors

Shoo=t.00 | 0
D—-25153




LIMITED JOUNCE & HIGH CONTROL TRAVEL DIMENSIONS FROM PAGE 1 FOR AAL 30K

RIDE | <3| |REBOUND|REBOUND| gyypER <] | < 4‘1‘
W/FRONT| W/REAR D E F G H
HEIGHT| JOUNCE CONTACT W /FRONT| W /REAR
SHOCKS | SHOCKS
SHOCKS | SHOCKS
9.0 | 34 4.2 3.7 29 [225] 45 [19.0 | 56 | 132 12.7
12.0 | 4.2 4.8 3.4 36 22580191 | 7.8 | 16.8 15.4
14.0 | 4.6 4.4 4.0 40 |350[10.0] 191 [ 9.4 | 184 18.2
150 | 4.6 3.4 3.2 40 |531[100] 188 [104 | 184 18.2
16.0 | 4.7 43 4.3 4 531 12.0 191 | 11.3 | 20.3 20.3
17.0 | 46 3.3 3.3 40 |7.31[12.0] 188 [12.4 | 20.3 20.3
19.0 | 46 3.5 — 41 |9.25]14.0] 188 [14.4 | 22.5 -
NOTES:

1. SEE L729 FOR SUSPENSION WEIGHT.

2. SEE L1073 FOR ALLOWABLE RIDE HEIGHT RANGES.

JOUNCE AND REBOUND DIMENSIONS CHANGE AS THE RIDE HEIGHT CHANGES
FROM THE NOMINAL POSITION.

DIMENSIONS "G” & "H” WILL REMAIN CONSTANT REGARDLESS OF RIDE HEIGHT
VARIATION FROM NOMINAL POSITION.

WHEN THE OPTION FOR FRONT AND REAR SHOCKS IS SELECTED,
DIMENSIONS FROM "REBOUND WITH REAR SHOCKS”™ AND
"H WITH REAR SHOCKS” SHOULD BE USED

AIR DISC ONLY AVAILABLE WITH REAR SHOCKS

ENVANWAYAN

This Print remains the property of
Hendrickson. All information contained

TRAILER COMMERCIAL VEHICLE SYSTEMS
2070 WOUSWUAL PLACE SE. CANTON, OH _44707-2000 USA

APPD BY
W. SCHNEIDER HENDRICKSON

thereon is confidential. It is loaned,

subject to return on demand and on

express condition that it is not to be

copied or used directly or indirectly PRODUCTION
f .th th .th — UNLESS OTHERWSE No 36 | 045135 | owp | 10/18/24 | vRaW BY g3 SCALE = PAGE
p%rs:nf)érpuﬁ)igﬁeitohaesr be:r:1 Ioaen:durto GHHENDRICKSON X ?_:r iyl ey e o m"a:/vz:; e INTRAAX® AAL, AAEDL S " o [Fos
you. ik £ = ® o, | " INSTALLATION DRAWING D-25153




This Print remains the property of
Hendrickson. All information contained
thereon is confidential. It is loaned,
subject to return on demand and on
express condition that it is not to be
copied or used directly or indirectly

(A

3

for any purpose other than the pur— 25
pose for which it has been loaned to DETAIL X
@f you. SCALE:.50=1.00
/ 163— |— —| |—163
- 0002020 ! ___ .
[ \ / / H | [ 1
o ‘ o 3.63 .10
.25 .25 ‘I 5 .25 .25
5 —] 1.0— |— .25 .25 1.0— |— .25 .25
C—CHANNEL WELDING AT C—CHANNEL — WINGLESS, WELD-ON C—CHANNEL WELDING AT
35" & 47" BEAM CENTERS ALL EXCEPT 19" RIDE HEIGHT 41" & 48.5" BEAM CENTERS ] 5 5
[ I ] [ I ] O |: -|
d
o o | 1.25 3.63 .10
¢ VIEW B l
SCALE: .25=1.00 63 ——| «i; .25 25 ‘l 5
FOR SHORT, WINGED WELD—ON FRAME BRACKETS :
0 /oy 0 & SOME UBL INSTALLATIONS 5 10— — 25 25 10— |— — 363 I—
GOULUEIAG, o & e suoer suce T
b 19" RIDE HEIGHT ONLY :
[ WINGED BOLT—ON SHOWN, OTHERS SIMILAR.
7 — T
o o o o 363 £.10 FRAME BRACKET BRACING
FRAME_ATTACHMENT—— WELD—ON BOLT—ON
C—CHANNEL — WINGED, BOLT—ON l SUSPENSION CAPACITY—— AAL 23K, 25K, AND 30K AAEDL 30K AAL 23K, 25K, AND 30K | AAEDL 30K
25 “ HIGH CONTROL—— YES —OR— NO YES —OR— NO NO YES [ YES —orR— NO
: —.5 FRAME BRACKET STYLE—— WINGED WINGLESS WINGED WINGLESS WINGED
.5 — 1.0~ |— 1.0~ |— RIDE_HEIGHT WWWWWWWMWWWM/{WM
6.5
C—CHANNEL WELDING AT C—CHANNEL WELDING AT 25 / // / 7
35" & 47" BEAM CENTERS 41" & 48.5" BEAM CENTERS 55 % %
9.0 FRAME BRACKET| C—CHANNEL NONE
142_8 R(I?:L(JD?J?RI::I::FD REQUIRED FRAME BRACKET C—CHANNEL
15.0 GUSSET REQUIRED C—CHANNEL | C—CHANNEL
16.0 REQUIRED C—CHANNEL REQUIRED REQUIRED
‘ﬂ'"_‘f‘_"‘\ /’“+“'ﬂ' 17.0 , REQUIRED
I I W C—CHANNEL & % C—CHANNEL & | C—CHANNEL & | C—CHANNEL &
h \ ! i 19.0 / FRAME BRACKET / FRAME BRACKET | FRAME BRACKET | FRAME BRACKET
||=_______%___ - ___%_______=|| /ABRACE_REQUIRED BRACE REQUIRED| BRACE REQUIRED| BRACE REQUIRED
" "
=== —_———

.60 (.43)
A5 X .38

FRAME BRACKET GUSSET
(SEE VIEW B FOR GUSSET LOCATION
ON 4.5 PIVOT FRAME BRACKET)

WINGED, WELD—ON

IT IS THE RESPONSIBILITY OF THE SUSPENSION INSTALLER TO PROVIDE AN EQUIVALENT FRAME BRACKET SUPPORT IF THE FRAME BRACKET BRACING

IS NOT PURCHASED FROM HENDRICKSON.

HD BOLT—ON C—CHANNEL WITH STRUTS OPTION BOLT—ON C—CHANNEL WITH STRUTS OPTION
FRAME ATTACHMENT—— BOLT—ON FRAME ATTACHMENT—— BOLT—ON
SUSPENSION CAPACITY—— AAL 23K, 25K, AND 30K | AAEDL 30K SUSPENSION CAPACITY—— AAL 23K, 25K, AND 30K | AAEDL 30K
HIGH CONTROL—— YES —OR— NO HIGH CONTROL—— YES —OR— NO
FRAME BRACKET STYLE—— WINGED FRAME BRACKET STYLE—— WINGED
RIDE_HEIGHT RIDE_HEIGHT ///////////////////////////////////////(/////////////////A
w7 gg 32 %
8.0 8.0 WITHOUT STRUTS

CROSSMEMBER 9.0 9.0 WITHOUT STRUTS]
12.0 12.0
60 14.0 14.0

43 N 15.0 15.0 WITH STRUTS WITH STRUTS
16.0 16.0
] 17.0 WITH STRUTS WITH STRUTS 17.0
} 19.0 19.0
&
PRODUCTION
[ UNLESS_ GTHERWISE NOTED: 6] os5136 [ oo ] 10/18/2¢ [orami e . ® 5= = VY
Vl EW A H‘E‘N‘BR‘IE‘K‘SGN "I‘UEH!X-M;B':AE' 'EIEEN_HEE'ME = 0| 5-29-23 m"c. ANDERSON | 9-22-00 |NTRAAX AAL’ AAEDL mif;loo |_ D |5a".9
SCALE: .25=1.00 iz o= 2¢] zea2z | 0o m’s 10-10-00G. SHENKLE | e caexmre
ENEJ%ERCML Vﬁl%ﬂSTuE&s nﬁ%ﬁé&““‘#ﬁzﬁh Rev.[ecn NO.| BY | DATE e G. MICHEL lNSTALLATlON DRAWlNG D_25153




SE 82° FLAT HEAD SOCKET CAP SCREW WITH FLANGED PREVAILING TORQUE NUT
N THESE TWO HOLES ON EACH 'SIDE’ OF SUSPENSION.
SEE KIT A—30476—1 (5/8") OR A—30476—2 (1/2").
TORQUE 1/20 FASTENERS 10 100420 FT-18.
RQUE 5/8 NERS TO 190%20 FT-LB,
TS ABPUES 10 8.8 TUROUGH 9.0-RIDE HEIGHTS
FOR BOLT ON LNITS ONLY.

INSTALLATION SEQUENCE:

1. LOCATE FRAME BRACKETS ONTO TRAILER FRAME AND LOOSELY
INSTALL MOUNTING BOLTS USING HARDENED WASHERS AT ALL
SLOTTED HOLE LOCATIONS.

2. INSTALL CROSSMEMBER, USING 5/8” MOUNTING HOLES ON FRONT
OF FRAME BRACKETS.

3. INSTALL STRUTS, USING 5/8” MOUNTING HOLES IN
FRAME BRACKET GUSSET AND CROSSMEMBER.

4. TIGHTEN CROSSMEMBER MOUNTING BOLTS AND STRUT MOUNTING
BOLTS IF PRESENT.

5. TIGHTEN FRAME BRACKET MOUNTING BOLTS.

HARDENED WASHERS (PER ASTM F436) ARE
RECOMMENDED FOR ALL SLOTTED
HOLE LOCATIONS.

ATTACH STRUT TO FRAME BRACKET GUSSET
USING THIS HOLE IN STRUT ONLY.
OLT-ON FRAME BRACKET HOLES USED FOR CROSSMEMBER

WILL VARY WITH PIVOT HEIGHT.
X FABRICATED STRUT

c (2" X 2-1/2")

(3" X 1-1/4")
FABRICATED
CROSSMEMBER

o (2x 812" X
.406” SLOT)
[ ° Q / o
o @[T oS- fov

(1.50)d <(5.53) L

=

SUSPENSION
BEAM (REF)

\—s.oo' PIVOT HEIGHT ("E”)
10.00" PIVOT HEIGHT (“E")
12.00° PIVOT HEIGHT (*E")

IF SUSPENSION IS PRE—INSTALLED IN
(13.56) FRAME BRACKETS, INSTALLATION OF
CROSSMEMBER WILL REQUIRE HOLDING
THIS NUT WITH AN OPEN—END WRENCH,
WHILE TURNING THE BOLT HEAD TO
TIGHTEN. (THERE IS NOT ENOUGH ROOM
AHEAD OF THE BUSHING TUBE TO

USE A BOX—END OR SOCKET WRENCH,
NOR TO INSERT THE BOLT FROM INSIDE

*31.50 (71.5" TRACK WIDTH)
*33.00 (73.0° TRACK WIDTH)
*37.50 (77.5" TRACK WIDTH)
*43.50 (83.5" TRACK WIDTH)

USE 5/8" HEX HEAD FLANGE SCREW

OTHER TRACK WIDTHS NOT AVAILABLE WITH SPIRALOCK®FLANGE NUT. THE FRAME BRACKET).
*THIS DIMENSION MUST BE MAINTAINED WITHIN +.08" (SEE KIT A—29822 FOR CROSSMEMBER ONLY,
o o 12.0 THROUGH 19.0 RIDE_HEIGHTS FOR BOLT ON UNITS ONLY KIT INCLUDES 2 SCREWS & NUTS)
BOLT—ON C—CHANNEL WITH STRUTS (SEE KIT A—-30720 FOR CROSSMEMBER & STRUTS,
o % o KIT INCLUDES 6 SCREWS & NUTS
TORQUE TO 190+20 FT—LB.
[ ] BOLT—ON C—CHANNEL WITH STRUTS #( TORQUE BY NUT WHERE POSSIBLE ))*
Lo <
oo J?‘ 00 o o 00 d\ o0

HARDENED WASHERS (PER ASTM F436) ARE
RECOMMENDED FOR ALL SLOTTED HOLE LOCATIONS.

BOLT—ON C—CHANNEL
(SEE 12.0 THROUGH 19.0 RIDE HEIGHT VIEW FOR DIMENSIONS AND NOTES)

INSTALLATION SEQUENCE:

1. LOCATE FRAME BRACKETS ONTO TRAILER FRAME AND LOOSELY
INSTALL MOUNTING BOLTS USING HARDENED WASHERS AT ALL
SLOTTED HOLE LOCATIONS.

2. INSTALL CROSSMEMBER, USING 5/8" MOUNTING HOLES ON FRONT
OF FRAME BRACKETS.

3. INSTALL STRUTS, USING 5/8" MOUNTING HOLES IN
FRAME BRACKET GUSSET AND CROSSMEMBER.

4. TIGHTEN CROSSMEMBER MOUNTING BOLTS AND STRUT MOUNTING
BOLTS.

5. TIGHTEN FRAME BRACKET MOUNTING BOLTS.

BOLT-ON FRAME BRACKET
2X FABRICATED STRUT

2" X 2-1/2" ATTACH STRUT TO FRAME BRACKET GUSSET
USING THIS HOLE IN STRUT ONLY.
(4" x .257)
FABRICATED
CROSSMEMBER

C—41697-"X y ("E” - .66)

o
T

Jo
e © / l \\ /;‘/ \ e o J (4.007.030)

. (16)/] (1.50.03) IF SUSPENSION IS PRE=INSTALLED IN
*31.50 (71.5” TRACK WIDTH) __ | FRAME BRACKETS, INSTALLATION OF
*37.50 (77.5" TRACK WIDTH) CROSSMEMBER WILL REQUIRE HOLDING
OTHER TRACK WIDTHS NOT AVAILABLE USE 5/8” HEX HEAD FLANGE SCREW THIS NUT WITH AN OPEN—END WRENCH,
*THIS DIMENSION MUST BE MAINTAINED WITHIN +.06"  WITH SPIRALOCK®FLANGE NUT WHILE TURNING THE BOLT HEAD TO
TIGHTEN. (THERE IS NOT ENOUGH ROOM
(SEE KIT A—41823—1 FOR CROSSMEMBER & AHEAD OF THE BUSHING TUBE TO
16.0 THROUGH 19.0 RIDE HEIGHTS FOR BOLT ON UNITS ONLY. STRUTS, KIT INCLUDES 10 SCREWS & NUTS) USE A BOX—END OR SOCKET WRENGH
HD BOLT—ON C—CHANNEL WITH STRUTS TORQUE 190+20 FT-LB. v
This Print remains the property of T . NOR TO INSERT THE BOLT FROM INSIDE
Hendrickson. All information contained (( TORQUE BY NUT WHERE POSSIBLE )) THE FRAME BRACKET).
thereon is confidential. It is loaned, 4—INCH HEAVY DUTY BOLT ON C—CHANNEL WITH STRUTS
subject to return on demand and on
express condition that it is not to be & p
;::rp ig:yo;utrlsgged(i)rﬁ]c:lytﬁ‘rminfgr;ec;z_ ERACES E PRENS X oo b T s emp | 11-14-08 ® Se6=t.000 | 0 |'.'9‘a:.;
pose for which it has been loaned to RHENDRIGKSON X & - oy L% 2B SN p— INTRAAX™ AAL, AAEDL T
you ' gl |0 s e o | e INSTALLATION DRAWING
. i - 33| 24594 | DD| 09/03/15 [ en | —_
R Rl A EHICLE SYSTEMS DIA»:rw;s:‘Nl: AtDHERE T5 ANS: ViAo 1O8E[REV]EN No.| BY | DATE " MUCKELRATH | \emxsm D—-25153




